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Each question carries two marks. Answer all questions to the point in the space provided.
QUESTIONS ANSWERS
1) When a sound wave is reflected back from a denser

medium, which characteristic parameters of the wave
will change ?
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2)

A particle is executing linear simple harmonic motion
of amplitude A. At what displacement kinetic and
potential energy of the oscillation will be equal ?
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3)

Two organ pipes each closed at one end, give 10 beats
per second at their fundamental notes. If their lengths
are in the ratio 50:56, find the fundamental
frequencies generated by the organ pipes.
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4)

Due to what phenomenon, an air bubble under water
shines brightly.
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5)

A piece of iron bob is dropped in a very long column of
water. What type of motion will be experienced by
the bob near the bottom of the water column ?
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6)

Two plane mirrors are inclined to each other. A ray of
light is incident on the first mirror in a direction
parallel to the second. Finally it is reflected from the
second mirror parallel to the first . Find the angle
between the two mirrors.
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7)

An equi-convex lens with focal length f, is cut into two
plano-convex lenses. What will be the focal lengths
of the plano-convex lenses ?
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8)

How much time will be taken by light to traverse a
glass slab of thickness 1m and refractive index 1.5 ?
1.5 dfomaE REE 1. 7 @@ Feees sy e
G TSI ST I (TS TS I FN 2

9)

When a lift ascends with a constant acceleration f,
what would be the change in reading of a mercury
barometer placed inside it?

T (I TG0 £ IR0 AT (S €10, ©4 & Sy

10)

A man is standing on a rotating table. He pickup a rest
mass by his hand from outside of the table. What will
be the nature of the change in the angular speed of
the table?
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11)

A pipe of length 2L is closed at the two ends after
filling up it with an incompressible liquid of mass M.
The pipe is then rotated in a circle with angular speed
w in horizontal plane with the axis passing through
one end of the pipe. What is the force applied by the
liguid on the opposite end of the pipe?
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12)

A car of mass m is travelling over a convex bridge of
radius r. What is the maximum speed of the car so
that it is not jumped up at the vertex of the bridge?
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13)

Each of two particles of equal mass under the effect of
mutual gravitational force is rotating in a circle of
radius r . What is the speed of each of the particles?
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14)

A body rises up 10km above the surface of the earth
and the same body gets down the same distance
inside the earth. Find the difference between the
acceleration due to gravity in the two cases?
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15)

If ice of polar zone of the earth is melted, what would
be the change in the time period of the rotation of the
earth about its own axis.
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16)

In vacuum two parallel plates are placed with a
potential difference 100V. A proton at rest is released
from positive side of the plate. What is the speed of the
proton when it hits the negative plate? Given charge of
the proton is 1.6 x 10*° C and mass 1.67 x 107’ Kg.
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17)

The magnetic field due to a single turn coil of wire at
its centre is B. Find the value of the magnetic field at
the centre of coil with two turns made from previous
length of the wire.
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18)

Sketch the electric lines of force for a system of two
equal and same type of charges separated by a
distance.
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19)

A circular loop of conducting wire is carrying a current
in anti clock wise direction in x-y plane. Draw the
magnetic field lines associated with the loop.
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20)

A charge q is divided into two parts. Find the values of
the charge-fractions so that the repulsive force
between them is maximum.
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21)

Calculate the velocity v of ions that pass un-deflected
under the influence of electric(E) and magnetic(B)
fields which are perpendicular to each other. Given
E=14 KV/m, B=1.4T. The direction of v is perpen-
dicular to both E and B.
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22)

Two bulbs of ratings ( P, watt, V volt) and ( P, watt, V
volt) are connected in series and the combination is
connected to a V volt supply. Find the wattage of the
combination.
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23)

What will be the result of mixing equal masses of ice
at —20°C and water at 80°C?
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24)

A bimetallic strip consisting of brass and iron is
heated. What will happen to the strip?
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25)

A point charge q is placed at the centre of a cube in
vacuum. Find out the electric flux through any face of
the cube.
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